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1. In Von Neumann model, it does not include:

(A)
(B)
(C)
(D)
(E)

Memory

Heat Dissipation
Control Unit
Input/Output
Logic Unit
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Central Processing Unit

Control Unit

Output

— gic Unit Device

Device

Memory Unit




7. Covert data type (i) to data type (ii), which one may cause data loss?
(1)
(1)
(1)
(1)
(1)

(A)
(B)
©)
(D)
(E)

bool (ii) char
float (11) double
int (i1) char
short (11) long
int (i1) float

[(Z&dard ] stREMMEREE =5 - P.16~P.17 ¥ P.55  Bl&dH

il &oTk Fian | 4k K (bits) #AE 5 F
int 16232 -2147483648 ~
2147483647
short 16 -32768 ~ 32767
b 24 long A 32 -2147483648 ~
2147483647
long long 64
unsigned int g 162%,32 0 ~ 4294967295
unsigned char 8 0 ~ 256
unsigned short 16 0 ~ 65536
unsigned long 32 0 ~ 4294967295
unsigned long long 64
float 32 10" ~ 10%
=R H
double 64 107 ~ 10
F L char = 8 0 ~ 255 (ASCII#S)

byte — short — int

— Jong — float —

double




9. Recursion is memory-intensive because:
(A) Recursive functions tend to declare many local variables.
(B) Previous function calls are still open when the function calls itself and the activation records
of these previous calls still occupy space on the call stack.
(C) Many copies of the function code are created.
(D) It requires large data values.
(E) Too many lines of code exist.
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10. Assuming the following pseudocode for the Fibonacci series, what is the value of the 5" Fibonacci

number (fibonacci (5 ))?

Sfibonacci(0) =0

fibonacci(l) =1

fibonacci(n) = fibonacci(n—1) + fibonacci(n—2)
(A) 1
B)
©
D)
(E)

R
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Fibonacci # %
ABEL BRARZBIIRRBBHYFERETR
» Fo=0
» Fi=1
» Fo=Fui + Fuz: (0 >=2)

0,1,1,2 3,5, 8, 13, 21, 34, 55, 89, 144, 233......
int fib(int n){
if(n==0)
return 0;
if(n==1)
return 1;
return (fib(n-1)+fib(n-2));




19. Given the array

26 [ 24 | 3 [ 17 | 25 [ 24 [ 13 [ 60 [ 47 | 1 |
Which sorting algorithm would produce the following results after four iterations *
1 [ 3 [ 13 | 17 | 26 | 24 | 24 [ 25 [ 47 | 60 |

(A) Bubble sort

(B) Selection sort

(C) Insertion sort

(D) Quick sort

(E) None of the above
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Initial 13, 4, 54, 23, 1
1 4, 13, 54, 23, 1
2 4, 13, 54, 23, 1
3 4,13, 23, 54, 1
4

1, 4,

13, 23, 54

(Z)ZE#F# 5% (Selection Sort )
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Initial 26, 8, 29, 80, 16, 18
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26, 29, 80, 16, 18
16, 29, 80, 26, 18
16, 18, 80, 26, 29
16, 18, 26, 80, 29
16, 18, 26, 29, 80




(W) &€k A 7% (Bubble Sort)
1. Fik
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Initial 26, 18, 29, 80, 16, 8

1 26, 18, 29, 16, 8, 80
26, 18, 16, 8, 29, 80
18, 16, 8, 26, 29, 80
16, 8, 18, 26, 29, 80
8, 16, 18, 26, 29, 80
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(R)¥ & 3 A% (Quick sort)
1. Fik
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Initial | 26, 5, 37, 1, 61, 11, 59, 15, 48, 19
1 [11, 5, 19, 1, 15], 26, [59, 61, 48, 37]
[1, 5], 11, [19, 15], 26, [59, 61, 48, 37]
1, 5, 11, [19, 15], 26, [59, 61, 28, 37]
1, 5, 11, 15, 19, 26, [59, 61, 48, 37]
1, 5, 11, 15, 19, 26, [48, 37], 59, [61]
1, 5, 11, 15, 19, 37, 48, 59, [61]
1, 5, 11, 15, 19, 26, 37, 48, 59, 61
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20. Which of the following choices represents a correct in-order traversal for the binary tree on the
right side?

(A) 5320897461
(B) 5321087964
(C) 4697081253
(D) 3521807964
(E) None of the above
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void inorder(TreePtr tree) {
if (tree != NULL) {
inorder (t->1Child);
printf("%d", t->data);
inorder(t->rChild);




